ALL INDIA TRADE TEST - 2024 FOR CRAFSTMEN

TRAINING SCHEME (CTS)
Trade Name: Fitter
Year: 1st Year

Exam Date :
Exam Time :

Note:

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (2 Marks each)

3. There is no negative marking

Max Marks : 150

I\Slg QID Question Body and Alternatives
Trade Theory
1 ‘What is the meaning of 'Seiri' in 5S techniques?
53 TH11 B ‘Seiri' BT T 342 B2
Al

. Identifies storage
HERUI &1 UgaH Pl §
:AZ Cleans and inspects
TS el & 3R e drar g

‘,A3 Operating procedures

A4 .
. Removes unnecessary items

SFTIRID TGS I BT &

a “Trade Theory

2 What is the use of try square shown in the figure?

ot 7 fea 11U <1 TR T o ST 82

FIN'Y1 M 36

.Al To check the flatness

AT B ST HAT

52 To check the squareness

ABHRUA BT S HRAT
A
. 3 To mark lines at 90°

T3t Y 90° WR 3ifdrd AT

{M To set the workpiece at right angle

THUG B TH B0 R YT HA & o
Trade Theory

3 What is the use of groove provided on the either side of a vee-block?

sl & T 3R 3T T 39 &1 T ITART B2

Marks

2.0

2.0

2.0

Negative
Marks

0.00

0.00

0.00



1
For appearance

fegmae & fog

.AZ For reducing the weight

IO HH B & fag
A

. 3 To reduce bearing surface

SR T8 & HH B & forg

A4 Holding clamps

RIS
Trade Theory

‘Which metal property can be drawn into the wire without any rupture?
g o1 % 70T Y o bt et & R & e S ebar B2
:Al Ductility
Sfdeadt
:AZ Tenacity
TR
1:6‘3 Elasticity
FaReRyd

4 Malleability

Fefufererct

A

Trade Theory
Why slots are provided in the slotted angle plate?

Wiies TTd We & Wi il iU S 82
! For job clamping
SiTa FARRT o forg
.AZ For easy handling

3 gsfei & faw

.A3 For reducing the weight

IO HH B & g

A4 For better appearance

Trade Theory

‘Which metal property can resist the effect of tensile forces without any rupture?

DI T YIg 01 o1 fpeft ge-Goe 3 q=rdT §ail & THTT &1 ORI &R bl 82

f“ Dlctility
Sfoead

:AZ Tenacity
TR

1:6‘3 Elasticity

FaReRyd

A% Malleability

Hefufererct

Trade Theory
What is the name of the parallel block shown in the figure?
form ¥ feaTe 71T SHMIR Sefidh 1 1 &1 52

2.0

2.0

2.0

2.0

0.00

0.00

0.00

0.00



FH13132

I_M Solid parallel block

:A2 Tenon parallel block

(& GHMIR i (77 A scifep)
:A3 Angular parallel block

IV FHMIR sl (TR TRerd s1h)

A4 A djustable parallel block

AR GHFICR sl (USSR URad sildh)

TradeTheory

Which marking media is applied in rough forgings and castings? 2.0 0.00

I THIFSAT 3R IR H I JT AIfebT FifSar avma Sl 82

A

! White wash

CIEEEIR

,'6;2 Prussian blue

TR &
_A3 Copper sulphate
PR Fethe

A

4 Cellulose lacquer:

b S A

Trade Theory

Which metal cutting saw is used for cutting different profiles? 2.0 0.00

T3] TITSd b i & foIT f5d Hedt it OF 1 IuaT fohar Sirn 82

I_M Power saw

graR 9t
:A2 Circular saw
TR |
:A3 Contour band saw
Hexde A
:A4 Horizontal band saw
gieiea dg |t
Trade Theory

Which metal property permits no permanent distortion on before breaking? 2.0 0.00



I 1 U1 T[0T g A U8 1S W Rl i8R a2

! Tenacity

.AZ Hardness
.A3 Brittleness

A4 Toughness

THIY
Trade Theory

Why surface plates are made of up of stress-relieved, good quality cast iron? 2.0 0.00

WY We G-, S Ura aTd SR SR I I} §18 oirell 82

Al .
. To prevent corrosion

CRUCIRER ALY

.AZ To prevent breaking

A A ¥ R

1_6‘3 To prevent distortion

frpf 31 993 ¥ R
A

. 4 To prevent thermal expansion

YT fIR 1 A o forg
Traie_ih?o__ry=

What is the main advantage of adjustable parallel block? 2.0 0.00

USSRET GHMICR il &1 H T1H 1 32

Al To set different angle

it o Fyifd s & g

.AZ To set different depth

faftrer exrs Fuifa & & fow

.A3 To set different length

fafta oaTs My de. & forg

A4 To set differentiieight

faftre g fufia & & forg

Trade Theory

Whichepart of an universal surface gauge is used to set scriber exactly at the required position? 2.0 0.00

g TR 7o & {3y 3R o1 IualT ThiseR &) fiepa snavaes fRufy & e w3 & fo fear smar g?

:Al Snug
Eshll
:AZ Guide pin

s o
1:6‘3 Rocker arm

REaE ]
:A4 Fine adjustment screw

BTE USOREHT ¥

Trade Theory

Which metal cutting saw is used to cut large cross section area? 2.0 0.00



ot et e i o1 ST 9 spTe Qa7 ) Tt B R e o 22
Al Power saw
TR |7
:A2 Contour saw

Hex Al
:A3 Circular saw

THeR A
1}4 Horizontal band saw

giveii<d o |

Trade Theory

‘Which metal property can with stand shock or impact?

DI T YT 0T e T AT Bl 9 Tobell 32

_Al Tenacity

52 Hardness

EER

1_6‘3 Brittleness

i ﬂ

.A4 Toughness

THAY
Why are ribs provided in the angle plate?
T we H e ot § ol 82

! Provides flatness

AT TET HRAT &

.AZ Prevents distortion

e I A g

A3 .
.~ Provides squareness

RNHRAT T B8

A4 Supports the machined surface

I V Trade Theory
Whichrtype of “V” block is shown in the figure?
for # oy gHR &1 v wile fe@m i g2

FRATH

.Al Single level single groove

Riva daw Rirer @

2.0

2.0

2.0

0.00

0.00

0.00



52 Single level double groove

R daa s9a 4d

_A3 Double level single groove

9 dad R 4@

.A4 Double level double groove

ELRERREREG]
Trade Theory

Which part of the universal surface gauge holds the scriber? 2.0 0.00

gfawe TRHH 1 BT I 1 T BhT3eR $1 UhSdl 52

Al Snug

&
:A2 Guide pin
s fu
:A3 Rocker arm
A o
I:AA Fine adjustment screw
TS USOREHT B
Trade Theory

Which metal property is beneficial for melting? 2.0 0.00

fEaa & U B4 1 41g 0 BIeHS 82

Al pusibility

52 Specific gravity

CIRERIRTG G

_A3 Conductivity

EINEXI

.A4 Structure

fmfor

Trade Theory

‘What is the name of'the metal<cutting saws shown in the figure?

o1 7 e T g Te aTet SR T AT T B2

2.0 0.00

NN 80

Al Power saw

iR E7
.AZ Horizontal band - saw
eReifea ¥s - &

,A3 Circular saw

PR qr



21

22

23

24

21

22

23

24

A4
. Contour saw

Herr

Which material is used to manufacture Grade ‘A’ “V’ blocks?

Trade Theory

Y A’ v ATb S & o g el o1 IuanT fopar irar 22

I_M Tool steel

S
{%2 Carbon steel

Pl LI

A"’ High quality steel

I TuTa ardl K id

_A4 Closely grained cast iron

TRIP THER a1l HRE RA

Which metal is a good conductor of heat and electricity?

DI I U1g FHIAT AR Tl Bt ot Fargs 32

.A ! Cast iron

EEINIE]

A2 Mild steel

He =M
_A3 Copper
GICH

54 Wrought iron

forear <et

What is the specific gravity for aluminium?

TegHitfam o fore fafkie e wge
I:M 9 kg/cm3
9 kg/em’
:AZ 2.8 kg/em’
2.8 kg/cmz
:A3 2.6 kg/cm3
2.6 kg/cm3
:A4 8.5 kg/cm3

8.5 kg/cm3

Which mechanical property of metal has the ability to withstand wear and abrasion?

Trade Theory

Trade Theory

Trade Theory

o1d & fobar Fife o1 § R SR N0 &) Se BT & St 82

.Al Toughness

dHsuA

{3;2 Hardness

FoRd

_A3 Brittleness

TR

2.0

2.0

2.0

2.0

0.00

0.00

0.00

0.00



A% Malleability

K BIRGR TR

Trade Theory

25 25 Which mechanical property of metal extends in all directions without rupturing during hammering? 2.0 0.00

YT BT B T AP T[0T §AST ARA &b R fa ge Tt fermsit & Sreran 22

Malleability
Sraragd-gdr

A2 puctility

Al

GRIGI
{3‘3 Fusibility
REIRG))
:A4 Elasiticity
ERIRSGI

Trade Theory

26 26 Which is used for locating the holes in the assembly shown in the figure? 2.0 0.00

o & qwifu e Yo # fosgl o1 uar v & e forgee SuanT fovan S g2

FiND411814

_Al Dowel

SICK]

2 Screw

®

'A3 Bolt

El

_A4 Nut

e

Trade Theory

27 27 What is the'reading of the vernier bevel protractor shown in the figure?

o A G@ig e aiR S Miedex &1 Urswie a1 82

2.0 0.00

Fl112032

Al
. 18°50'
18° 50"
A2
. 41050

41°50'



28

29

28

29

A3
L 50050
50° 50'
A4

58050

58° 50"
Trade Theory

What type of operation is carried out in a gang drilling machine?

T fefer m=ia o e U R 1 SR fasan orar 82

A

! Idle operation
BISTEEIGE

A2 . -
.~ Repeated operation of drilling

fSfei &1 aR-aIR FareH
_A3 Continuous milling operation

FARER e sifR=re
.A4 Successive operation of drilling
fgfei &1 e dareH

Trade Theory

Which is an integral part of the stock in vernier bevel protractor?

TR Sad icaex § Tl &1 U Sifte Reqr pia A g?

Al Disc

feww

A2 Dial

S

A3 Blade

LSS

1_6‘4 Main scale

TR TET

Trade Theory

2.0

2.0

0.00

0.00



30

31

32

30

31

32

What is the name of the part marked as 'X' shown in the figure?

o 7 femm e x I g v ST A R 2

Fl11e

Al Amwil

UK

A% Thimble
s

A Spindle
fisa

:A4 Spindle lock
isd dle

What is the accuracy of a metric outside micrometer?

Hifcs sr3cargs AgHIHicR Bt Ilhar T 82

AL 001 mm

0.01 mm
:A2 0.001 mm

0.001 mm
A3 0.02 mm

0.02 mm
440,002 mm

0.002 mm

Trade Theory

Trade Theory

What is the name of the part marked as ‘X’ shown in the figure?

e ® femm Mo @ ffed ym s T A g2

EnITTY

AL Drill chuck

2.0

2.0

2.0

0.00

0.00

0.00



fger =

:A2 Feed handle
Bl gsa

:A3 Driving motor

i dex

A4 Depth gauge and stop
S 7 SR T
Trade Theory

What is the name of the part marked as ‘X’ shown in the figure?
fom & g Mg x & Rifga w1 AH R R

2]

A

2]

=k

N
x a
-3
o a

PR

Al Beam

Cil

_Az Main scale
TR THT (7 W)
A3 Fine adjusting nut
PIgT USSR -Ie

_A4 Fine adjusting slide

hIs TSoeetl WSS
NS Trade Theory

What is the name of the drilling machine shown in the figure?

formr o femae fefem mefm s A R 82

_Al Pillar drilling machine

Toer fgfei wei

A2 Gang drilling machine



o1 Refefr

_A3 Bench drilling machine

EEISISURERUE

.A4 Radial drilling machine

fege e w2
Trade Theory

35 35 How can a wide range of depth be measured using a depth micrometer? 2.0 0.00

3 WTZHIHIER BT IUTNT S RIS B! FIEgd 4T Y HY HIAT S Jebell 22

Al Lengthy sleeve

[SIESIEERAN]
:A2 Lengthy spindle

i s & R
:A3 Adjustable base

AT 99 & gRT

I_AA Use of extension rods

TRICTA AT BT ITANT HRp
Trade Theory
36 36 Which part of the drilling machine is used to achieve set a different speed? 2.0 0.00

3 fer a=fiv & far umT o1 FuaT sraw ifa Feiia wa & fo fvar wmar g2

_Al Flat pulley

i e
:A2 Jockey pulley
et geelt
:A3 Stepped pulley

RO gedt

.A4 Fast and loose pulley

RE TS o gt

Trade Theory

37 37 Identify the type of drilling m;chine whose spindle head is moved towards or away from the column.

e m=ie & UoR 31 Ugam®: ST Risd 88 HicH B 3R 31 IT g A T T 3|

2.0 0.00

AL Billar drillifig Mchine

foeR fgfeim ey

.AZ Gang drilling machine

Har T fet w2

.A3 Radial drilling machine

fega fgfe w2
A4 .. - .
. Sensitive bench drilling machine
JdeTeiter o fgfer w=iiv
Trade Theory

38 |38 What is the reading of vernier caliper with inch graduations shown in the figure? 2.0 0.00

o & ferame U g9 A9uE & gy affR Sl B AT e g



39

40

41

39

40

41

2354 5378921 2345ﬂ?8931234 587894

FH11854

Al o6se

1.068"

AZ | 4500
1.459"
A3 a1g
1.418"
A% 400"

1.409"
Workshop Calculation and Science

What is termed as the quantity of matter contained in a body?

% 7 Fifed uard &t " &) @ e o 82

! Density
Yid
.AZ Volume

SRR

.A3 Mass

SHHA
A4 Specific gravity

fafdy v@

Workshop Calculation and Science

What is called mass per unit volume of-a'substances?

ot uerd & g Ufa 818 31 &1 R HEd 82

_Al Mass

SYHIA
:A2 Weight
HR
1:6‘3 Density
YIcd

.A4 Volume

SHIdT
Workshop Calculation and Science

What is the ratio of power output to power input?
T 3MTIeye 3R Wfed STYE HT SUTd T BT 82
Al Work
G2

.AZ Energy

St

2.0

2.0

2.0

0.00

0.00

0.00



42

43

44

45

42

43

44

45

53 Efficiency

QT

_A4 Acceleration

RO

Workshop Calculation and Science

How many watts for 1 horse power in British system?

fafew Rreg ) 1 g7 urR & foram ac 814 82

.Al 726 watts

726 watts
,'6;2 736 watts
736 watts

_A3 746 watts
746 watts
A4 756 watts

756 watts

‘What is the S.I unit of heat?

S D] T3, THTS 182

_Al Calorie
Calorie
52 Joule
Joule
_A3 Centigrade heat unit
Centigrade heat unit
.A4 British thermal unit

British thermal unit

Workshop Calculation and Science

=Workshop Calculation and Science

‘What is known for the temperature at which any solid melts into liquid?

&g A R B 319, g9 7 e 82

él Boiling point
FaYAIDH

:AZ Meltingpoint
USEIFZ

53 Latent heat of fusion

TSI b G ST

_A4 Latent heat of vaporisation

ARHIT D1 T ST

Identify the conventional symbol of material?

I & URURD Uchieh P Ugar?

Engineering Drawing

2.0

2.0

2.0

2.0

0.00

0.00

0.00

0.00



EDNG1811002

.A ! Lead

S

{3;2 Steel

EXIG)
:A3 Glass
BT
?A4 Porcelain

I fredt

46 46 Identify the conventional symbol of material?

R & TRURD Uil I Uga?

Engineering Drawing

v # £ Z
z # 7

EDNG 1811004

.Al Concrete
Wtiid riceH

{3;2 Steel

sId

_A3 Wood

47 47 Identify the conventional symbol of material?

A & TRURD Uil Dl Uga?

Engineering Drawing

EDNG1611005

_Al Steel

52 Wood

2.0

2.0

0.00

0.00



eS|
:A3 Glass
BT
:A4 Concrete

39

48 48 What is the trimmed size of A4 sheet?

A4 Sie BT for T g 3R a1 32

Al g41x 1189
841 x 1189
:Az 594 x 841
594 x 841
A3 210x 207

210 x 297
:A4 148 x 210
148 x 210

49 49 Which drawing dimension is correct as per IS standard?

IS TS & 3R S TT ST AT el 82

Al

A2

A3

Ad

Engineering Drawing

Engineering Drawing

2.0

2.0

0.00

0.00



Engineering Drawing

50 50 Identify the name of prism? 2.0 0.00

fm # femm U oA ST A T B2

ECNGH 812005

Al .

. Square prism
IR foeH

A2 .

.~ Pentagonal prism
Ygaiufiy fies

_A3 Triangular prism

[Ecarieaic)

.A4 Hexagonal prism

BRI freH

eyt Skl

st 5l Fill in the blank with correct word. “They : g_ood friends”
Raa o T&h e W1 “They good friends”

2.0 0.00
Al .
A2
. am
am
A3
. are

are,

A4

Employability Skills

5252 Fill in the blank with present progressive tense of the verb. “The train through the tunnel” 2.0 0.00

o & adur vfasiia et & a1y Rad R W1 “The train through the tunnel”

?M passed
passed
is passing
is passing
:A3 had passed

had passed




53

54

55

56

53

54

55

56

4 .
‘was passing

was passing
Employability Skills

Fill in the blank with proper interrogative adjective. are you going? 2.0 0.00

Ifa TeRmfea faRivor & Ty fad =M W are you going?

_Al Who
Who
.AZ Where
Where

A3 Which
Which
.A4 What

What

Employability Skills
Fill in the blank with proper pronoun. “I made this cake ” 2.0 0.00

o = o Ifad Td=™ & 1Y 4R | “I made this cake ”

"Al myself
myself
_Az yourself

yourself

A3 himself
himself
A% dielf

itself

"~ Employability Skills

Fill in the blank with proper pronoun. “She made this cake ” 2.0 0.00

ad = # IR 910 & 1Y WY | “She madethiseake &

Al iiself
itself
52 myself
myself

.A3 herself.
hetself
M imself
himself

Employability Skills
Fill in the blank with proper reflexive pronoun. “She has hurt ” 2.0 0.00

o = # Ifrd ufaad! Td=m™ & Iy W1 “She has hurt ”

_Al myself
myself
{\2 herself
herself

A3 pimself
himself

A% iself



57

58

59

60

57

58

59

60

itself
Employability Skills

Fill in the blank with suitable adjective for the given sentence “The little girl’s...... eyes revealed her mischief”

%Q RIYCIC) & 1%111 SUYd foRivor & a1 e RITF WX “The little girl’s...... eyes revealed her mischief”

I_M chubby
chubby
{%2 weak

weak

I_“ short sighted
short sighted
A4 winkling
twinkling

Employability Skills
Fill in the blank with suitable place preposition. “My house is the third floor”

JUgaRd I Gaer o 91 e ®IF W1 “My house is the third floor”

Al at
at
A2 .
T in

in
A3
.~ on
on

_A4 under

under
_Employability Skills

Fill in the correct question word. * is the speaker at the function?”

e Uy g R | « is the speaker at the-function?”

A

! What
What
I:A‘Z When
When
.A3 Why
Why
1}4 Who

Employability Skills

Low level language is also called

9 TR P U B lﬁaﬁrﬁrﬁ%

! source code
I B

AZ middle ware
HEY
3 .
machine language
ERIERNIL]
4
assembly language
SRereft T

Employability Skills

2.0

2.0

2.0

2.0

0.00

0.00

0.00

0.00



61

62

63

64

65

61

62

63

64

65

Pronunciation refers to . 2.0
FEAR P Haffd PRl &
_Al diphthong
g TR
2
consonant
o
3 .
punctuation
fRm fg
.A4 production of sound
& BT Iadre
Employability Skills N
Re-arrange the following set of words into meaningful sentence. “teacher / school / worked / she / a / as”. 2.0
X! & FEfIRId J¢ &1 urde e & R & afRd X1 “teacher / school / worked / she / a / as”
! School worked as a she teacher
School worked as a she teacher
.AZ She worked as a school teacher
She worked as a school teacher
A3
.~ She teacher worked as a school
She teacher worked as a school
_A4 Worked she as a school teacher
Worked she as a school teacher
Employability Skills
Rise and fall of pitch of voice is called 2.0
3TaTS 1 fUrdl BT I3 SIR AR
Al
vowel
TR
2 intonation
SIS T IdR-Teld
3
consonant
E:eE)
4 . S
pronunciation,
R
~ VY Employability Skills
The word that expresses a sudden and strong feeling is called 2.0

T8 Teg Sl A 3TR FeTgd HIGT e bRl § I

! punctuation
fRm fg

2 interjection
fremfeaiys

3 . .
conjunction
T & =4

4 apostrophe

LRI

Ebﬁ%rﬁn%

Employability Skills

When you greet higher official’s such as Teacher, Instructor or Supervisor, you should use . 2.0

0.00

0.00

0.00

0.00

0.00



S 3170 e, Ufieie a1 widard S I SHfIBTRGT o1 3Afare Hd g, af MU PHT IUURT HAT IeY

A

! Good morning

Good morning

.AZ Hello

Hello
53 Hey

Hey

Employability Skills
Which is a silent letter in the word “ANSWER”? 2.0 0.00
“ANSWER” ¥ec § I 1 Heb 31&R 82

Al g
R
A2 g
E

As
S
A4

Employability Skills
Which one is a “Do’s” of discussion etiquettes? 2.0 0.00

aaf%ﬁrmﬁﬁﬁaﬁqw“m’s” %?

_Al Loose your temper
37T 31T WY

52 Listen to others

R g
1_6‘3 Talk about irrelevant details

ST fAaR0 & IRH TF B
.A4 Use impolite or'rude language
Y 7 SHFAY U BT YT B
AN N Employability Skills

Which oneis @“Don’t” of discussion etiquette?

i RIFYR BT “Don’t” %?

2.0 0.00

Al Be open minded

T e
.AZ Use moderate tone

T TR BT YO B

.A3 Listen to others
FRAEARR

A4

. Argue unnecessary

SHTIRIS TG DY

Employability Skills

Which one is a brain of computer? 2.0 0.00

FHHCR HT AT I A1 7



70

71

72

73

70

71

72

73

A ! Keyboard

CiCIS)

CPU

didi g

.A3 Monitor

iR

A% Hard disk

HEsED

A2

Which one is an exclamatory sentence?

DI 9 fowranie st e 82

_Al What a beautiful house it is!

What a beautiful house it is!

52 It is a beautiful house.
It is a beautiful house.
_A3 Is it a beautiful house?
Is it a beautiful house?
,A4 Your house is beautiful.

Your house is beautiful.

Which one is in active voice?

ey 3HTaTS B P19 9182

I_M Ram has passed the exam.
Ram has passed the exam.
{%2 The ball was caught by him.
The ball was caught by him.
A3 .
.~ The book was being read by her.
The book was being read by her.
_A4 We were driven home by dad.

We were drivenshome by, dad.

Which ones,in passive voice?

fAfepy e A B T g?

fM Mohan is painting a house.

Mohan is painting a house.

.AZ She was reading a book.

She was reading a book.

53 Her birthday was celebrated by us.

Her birthday was celebrated by us.
A4

-7 I have seen that movie.

I have seen that movie.

Which one is NOT a conjunction?

P T T TUIoH el 82

.Al And

Employability Skills

Employability Skill{_

Employability Skills

Employability Skills

2.0

2.0

2.0

2.0

0.00

0.00

0.00

0.00



74

75

74

75

53 But

But
A4

On
Employability Skills
Which one is NOT a benefit of the role playing?

YfPeRT AU &7 B a1 @y el 82

.Al Builds confidence

eIy Vet BT 8

{3;2 Develops listening skill

G BT 1Tt fApRId el 8

_A3 Develops creative problem-solving skill

TS GHET-GHTY BRI AR Hdl g
54 Develops boredom

TRTd Te AT ®

Employability Skills
Which one is NOT a vowel?
B TR T2
Al
o a
A2

A3

A4 .
!

2.0

2.0

0.00

0.00




Fitter - 1st Year - Set 2

S.No. Correct Answer Key S.No. | Correct Answer Key
1 A4 39 A3
2 A2 40 A3
3 A4 41 A3
4 A1 42 A3
5 A1 43 A2
6 A2 44 A2
7 A4 45 A2
8 A1 46 A4
9 A3 47 A4
10 A3 48 A3
11 A3 49 A1
12 A4 50 A4
13 A4 51 A3
14 A3 52 A2
15 A4 53 A2
16 A2 54 A1
17 A3 ) A3
18 A1 56 A2
19 A1 57 A4

20 A3 58 A3
21 A3 59 A4
22 A3 60 A3
23 A2 61 A4
24 A2 62 A2
25 A1 63 A2
26 A1 64 A2
27 A2 65 A1
28 A4 66 A4
29 A2 67 A2
30 A1 68 A4
31 A1 69 A2
32 A1 70 A1
33 A4 71 A1
34 A1 72 A3
35 A4 73 A4
36 A3 74 A4
37 A3 75 A3
38 A2

Note:

"In case answers found to be inaccurate due to typographical error or any
other reason please sent mail to gbnimigrievance@gmail.com"





